



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^0 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \frac{3}{5} =$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^0 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{6}\right) =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{3}{16}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{6} = \left(-\frac{7}{24}\right)$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{2}{5}\right) = \left(-\frac{3}{5}\right)$$

$$\left(\frac{3}{5}\right) - \left(-\frac{3}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(-\frac{1}{4}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{3}{5} = \frac{32}{45}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{3}{5}\right) = \frac{17}{20}$$

$$\left(-\frac{1}{4}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{221}{1080}\right)$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{4}\right) = \frac{157}{500}$$

$$\left(\frac{1}{5}\right)^2 + \frac{3}{5} = \frac{16}{25}$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{5}\right) = \frac{29}{80}$$

$$\left(-\frac{1}{4}\right)^3 + \frac{3}{5} = \frac{187}{320}$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{2} = \frac{71}{250}$$

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{1}{2}\right) = \frac{1}{2}$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{2}\right) = \frac{1}{4}$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{1}{2}\right) = \frac{1}{2}$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{2} = \frac{33}{50}$$

$$\left(\frac{3}{4}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{6}\right) = \left(-\frac{23}{30}\right)$$